& Husqvarna

1.1993

Spare parts
Ersatzteile
Pieces détachées
Repuestos
Reservdelar

Jpn 21341 106 23 34‘63




772553 31-01 (M5 % 20)

(125) 531 00 23-59 )
((132) 53100 23-60 )

—

53100 23-56 ;

1 (125)531 00 23-54 ¢
( (132)531 00 23-55 5

72553 33-01 |
(M5 x 25)

" 53100 24-18

(125) 531 00 23-57
(132) 531 00 23-58

{

T 725532901 (M5 x 16) }

53100 24-15
531 00 24-14 ! 531002415
| 531 00 24-12
: 531 00 24-11
53100 24-13
@ 531 00 40-07
531 00 24-10 531 00 40-06
Ml 531 00 40-05
531 00 40-04

531 00 24-07 (125)
531 00 24-08 (132)

531 00 24-16



Gunnar Sjölund
531 00 24-16


531 00 23-63

@/— 531 00 23-61 (125) )
531 00 23.62 (132)

% 501 31 40-01

A 502 02 61-01

% 531 00 23-64

- -

53100 23-65 |

(M5 x %0) 72553 31-01

(125) 531 00 23-46
 (132) 531 00 23-47

<X _ 53100 2353 |
""(125) 531 00 23-48 @/
(132) 531 00 23-49 w
(125) 531 00 23-77 *
(132)5310023-78 |
/)\[ 531 00 23-83 (125)
(125) 531 00 23-75 531 00 23-84 (132)
(132) 531 00 23-76
- |
(125) 531 00 23-83
(132) 531 00 23-84 {53100 23-85 (125)
S0 R AR { 531002386 (132)

125) 531 00 23-81
132) 531 00 23-82.

(125) 531 00 23-68
(132) 531 00 23-69

531 00 23-68 (125) )
53100 23-69 (132) )

: 531 00 23-85 (125)
; 531 00 23-86 (132)

501 9549-01 |

Q 502 19 19-01

502 18 09-01
502 18 10-01
502 04 55-01




7255341-01 1
531 00 24-53 (M5 x 50) 53100 24-57

531 00 23-51 (125)
531 00 23-52 (132)

531 00 23-50

53100 24-54

531 00 23-53 72553 33-01

53100 41-51 (M5 X 25)

531 00 24-56

531 00 23-63

*5310023-98

"+ compl. 531 00 23-96

¥

531 00 23-99
* 531 00 23-97

NGK BPMRGY

531 00 24-01

531 00 23-94
53100 23-95

531 00 24-03

7 72552 97-01 (M4 x 25) |




* compl. 531 00 23-67 (132)
H * compl. 531 00 23-66 (125)

{"7(125) 531 00 23-73
(132) 531 00 23-74

{ (125) 531 00 23-70
i (132) 53100 23-71

72553 31-01 (M5 x 20) })

(M5 x 40) 72553 39-01 4

531 00 23-93

k 53100 23-72

725 53 35-01 (M5 x 30) )

J 724 52 93-10

531 00 24-62

531 00 24-63

531 00 41-53
53100 41-54

1531 00 24-93
1241327-01 M5x 12 9

/53100 41-52

531 00 24-58
531 00 24-59

1531 00 24-61




K * compi 5310072387

53100 24-81 —-< :; j

531 00 24-79
531 00 40-57 531 00 24-80
531 00 22-35 \ 531002388 *

* 531 00 23-89

o  ID— 531002390
53100 24-87
531 00 24-86 @\
KSM 00 23-91
531 00 23-92
Q'\ 531 00 22-28
531 00 22-42
~531°00 40-58 w 531 00 24-84
531 00 24-83
531 00 24-85
53100 4157 - /@
762 91 02-05
O ' 531 00 41-58

0\ 531 00 24-89

r

N * compl. 502 18 14-01 |

531 00 40-55
531 00 41-59

+ % 503 21 83-22»
+ ¥ 502 18 18-01,

"% 73123 14-05 —/’"’

531004160 )

531 00 41-61




73511 4601 |
531 00 24-76 i?/ 725 23 25.71

7317114-510
53100 22-15

53100 22-18

53100 24-78 \

{53100 24-77

© 734 4152-71 —_\\\
72523 27-71
73511 46-01

153100 22-14
@;gm 0022:21

* compl. 531 00 40-29 j\
5

734 11°52-71
735 11 46-01
725 23 27-71

531 00 24-75

73171 14-51

"531°00 24-71 (125) )
53100 24-72 (132) }

O * compl. 53100 40-26 g

* 502 16 21-011
* 72523 33-511_@
* 735 11 35-50 4
* 503218341 gy
\I'/\

* 502 14 6*01
* 738 21 98-00

LS

L]

q 0 @-——— 7353131-10 * "
@ —— 735311141 *
L ®\"‘“““—— 738219901 *
K "502714 74-01 *

@\ "~ 503200003 '
503 20 00-03

* 502 14 71-01
* 502 18 08-01

Correction: ™™~
738 21 02-04
© % 73821 02-07}
v * 735 31 25-01
Correction:
735 31 25-10



Gunnar Sjölund
Correction:
738 21 02-04

Gunnar Sjölund
Correction:
735 31 25-10


M * compl. 531 00 24-20 (132)
* compl. 531 00 24-1* (125)

531 00 24-43 *

" 53100 24-45 53100 24-44 * ,

* 531 00 24-46; e/__ 531 00 24-42 *
531 00 24-41 *

53100 24-40 *-

€r———— 531 0024-39 *"
"531°00 24-52 S
{531 00 24-49 *
{53100 24-47 *

g_ 531 00 24-50 *

53100 24-51 *

* 531 00 24-21

* 53100 24-23 } 8'
* 53100 24-24 . 3 3

* 53100 41-55

* 531 00 24-31
* 531 00 24-32
* 531 00 24-33

+ * (125) 531 00 24-34
+ * (132) 531 00 24-35

- r

* 531 00 24-36

* 53100 24-37°

531 00 41-56 ‘E






